Nonlinear Systems of Equations, Gauss-Jordan [1-6]

References:

1. Chapra S.C. and Canale R.P. "Numerical Methods for Engineers", Sixth Edition, McGraw Hill, International Edition 2010.

2. Chapra S.C. and Canale R. P. "Yazılım ve programlama Uygulamalarıyla Mühendisler için Sayısal Yöntemler" 4.Basımdan Çevirenler: Hasan Heperkan ve Uğur Kesgin 2003.

3.Chapra S.C. "Applied Numerical Methods with MATLAB for engineers and Scientists" Third Edition, McGraw Hill, International Edition 2012.

4. Mathews J.H. and Fink K.D. "Numerical Methods using MATLAB", Fourth Edition, Pearson P. Hall, International Edition 2004.

5. Fausett L.V. "Applied Numerical Analysis Using MATLAB, Second Edition, PearsonP. Hall, International Edition, 2008.

6. Gilat A. And Subramaniam V. "Numerical Methods, An introduction with Applications Using MATLAB", Second Edition, John Wiley and Sons. Inc. 2011.

the Gauss-Jordan method

$$2x_1 + 3x_2 - 2x_3 = 3$$

$$2x_1 - 2x_2 + 4x_3 = 18$$

$$-4x_1 + 2x_2 + x_3 = 3$$

$$\begin{bmatrix} 2 & 3 & -2 & 3 \\ 2 & -2 & 4 & 18 \\ -4 & 2 & 1 & 3 \end{bmatrix}$$

Normalize the first row by dividing it by the pivot element, 2, to yield;

$$[1 \ 1.5 \ -1 \ 1.5]$$

Subtract 2 times the first row from the second row. (Reduction of the x₁ term from the second row.)

$$[2 -2 \ 4 \ 18] - (2)[1 \ 1.5 -1 \ 1.5] = [0 -5 \ 6 \ 15]$$

Subtract -4 times the first row from the third row. (Reduction of the x₁ term from the third row.)

$$\begin{bmatrix} -4 & 2 & 1 & 3 \end{bmatrix} - (-4)\begin{bmatrix} 1 & 1.5 & -1 & 1.5 \end{bmatrix} = \begin{bmatrix} 0 & 8 & -3 & 9 \end{bmatrix}$$

Normalize the second row by dividing it by -5.

$$[0 \ 1 \ -1.2 \ -3]$$

Subtract 8 times the second row from the third row. (Reduction of the x2 term from the third row.)

$$[0 \ 8 \ -3 \ 9] - (8)[0 \ 1 \ -1.2 \ -3] = [0 \ 0 \ 6.6 \ 33]$$

Normalize the third row by dividing it by 6.6.

$$[0 \ 0 \ 1 \ 5]$$

Subtract 1.5 times the second row from the first row. (Reduction of the x2 term from the first row.)

$$[1 \ 1.5 \ -1 \ 1.5] - (1.5)[0 \ 1 \ -1.2 \ -3] = [1 \ 0 \ 0.8 \ 6]$$

Subtract 0.8 times the third row from the first row. (Reduction of the x₃ term from the first row.)

$$[1 \ 0 \ 0.8 \ 6] - (0.8)[0 \ 0 \ 1 \ 5] = [1 \ 0 \ 0 \ 2]$$

Subtract -1.2 times the third row from the second row. (Reduction of the x₃ term from the second row.)

$$[0 \ 1 \ -1.2 \ -3] - (-1.2)[0 \ 0 \ 1 \ 5] = [0 \ 1 \ 0 \ 3]$$

Then the augmented matrix is

$$\begin{bmatrix} 1 & 0 & 0 & 2 \\ 0 & 1 & 0 & 3 \\ 0 & 0 & 1 & 5 \end{bmatrix} \rightarrow x_1 = 2 \quad x_2 = 3 \quad x_3 = 5$$

Fixed Point Heration For a Nonlinear System

$$u(x,y) = x^2 + xy - 10 = 0$$
 (a)
 $v(x,y) = y + 3xy^2 - 57 = 0$ (b)

$$x_{i+1} = \frac{10 - x_i^2}{y_i}$$

$$y_{i+1} = 57 - 3x_i y_i^2$$

$$(a')$$

On the basis of the initial guesses, Eq. (a) can be used to determine a new value of x;
$$x = \frac{10 - (1.0)^2}{2.8} = 3.2143$$

This result and the initial value of $y = 2.8$ can be substituted into Eq. (b) to determine a new value of $y = 57 - (3)(3.2143)(2.8)^2 = -18.6003$

$$x = \frac{10 - (3.2143)^2}{-18.6003} = 0.0178$$

$$y = 57 - (3)(0.0178)(-18.6003)^2 = 38.5198$$
diverging

Now we will repeat the computation but with the original equations set up in a different formal. For example, an alternative computation of Eq. (a) is $x = \sqrt{10 - xy}$ and of Eq. (b) is $y = \sqrt{57 - 9}$

Now the results are more satisfactory:

$$x = \sqrt{10 - (1.0)(2.8)} = 2.6833$$

$$y = \sqrt{\frac{57 - 2.8}{(3)(2.6833)}} = 2.5948$$

$$x = \sqrt{40 - (2.6833)(2.5948)} = 1.7428$$

$$y = \sqrt{\frac{57 - 2.5948}{(3)(1.7428)}} = 3.2258$$

$$x = \sqrt{10 - (4.7428)(3.2258)} = 2.0924$$
 $\sqrt{3}$ $\sqrt{57 - 3.2258} = 2.9269$ $\sqrt{3)(2.0924)}$

$$x = \sqrt{10 - (2.0924)(2.9269)} = 1.9687$$

$$y = \sqrt{\frac{57 - 2.9269}{(3)(1.9687)}} = 3.0258$$

$$x = \sqrt{10 - (1.9687)(3.0258)} = 2.0107$$

$$y = \sqrt{\frac{57 - 3.0258}{(3)(2.0107)}} = 2.9913$$

Thus, the approach is converging on the true values of
$$x = 2$$
 and $y = 3$.

Newton - Ruphson for a Nonlinear System

X;+1 = X; -	ui aui	o; aui ay aui avi	(a)
	aui aui ax ay	ay ax	
yi+1 = yi -	94 241 2x 24 241	u; poi ex eu; poi	(6)
	əx əy	ay ax	

$$u(x,y) = x^2 + xy - 10 = 0$$

 $v(x,y) = y + 3xy^2 - 57 = 0$

$$\frac{240}{2x} = 2x + y = (2)(1.0) + (2.8) = 4.8$$

$$\frac{240}{2x} = x = 1.0$$

$$\frac{240}{2y} = 3y^2 + (3)(2.8)^2 = 23.52$$

$$\frac{240}{2} = 1 + 6xy = 1 + (4)(1.0)(2.8) = 17.8$$

Thus the delerminant	of the Jacobian for the f	inst iteration is;
(4.8)(17.8) _ ((1.0) (23.52) = 61.92	
the values of the fur	actions can be evaluated	at the initial guesses as
$u_0 = (1.0)^2 + (1.0)^2$	(0)(2.8) - 10 = -6.	2
00 = (2.8) + (3	$(1.0)(2.8)^2 - 57 = -3$	0.68
These values can be	substituted into Eq. (a)) and (b) to give
-100 1242 100 100 100 122 123 100 100 100	(17.8) _ (-30.68) (1.	2.2868
X = 1.0 -	61.92	= 2.2000
(+30.68)	(4.8) _ (-6.2) (23.52)	
y = 4.8 -	61.92	_ = 2.8233

2nd Heration:

$$\frac{304}{9x} = (2)(2.2868) + (2.8233) = 7.3969$$

$$\frac{304}{90} = 2.2868$$

$$\frac{901}{90} = (3)(2.8233)^2 = 23.9131$$

$$\frac{901}{90} = 1 + (6)(2.2868)(2.8233) = 39.7379$$

$$\frac{39.7379}{90} = (7.3969)(39.7379) - (2.2868)(23.9131) = 239.2528$$

$$\frac{39.7379}{90} = (2.2868)^2 + (2.2868)(2.8233) = 10 = 1.6858$$

$$\frac{39.7379}{90} = (2.2868)^2 + (2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8233 + (3)(2.2868)(2.8233)^2 - 57 = 0.5077$$

$$\frac{39.7379}{90} = (2.8268)(2.8233) + (3$$

3rd iteration:

$$\frac{\partial U_2}{\partial x} = (2)(2.0117) + (2.9761) = 6.9995$$

$$\frac{\partial U_2}{\partial x} = 2.0117$$

$$\frac{\partial U_2}{\partial x} = (3)(2.9761)^2 = 26.5715$$

$$\frac{\partial U_2}{\partial y} = 1 + (6)(2.0117)(2.9761) = 36.9221$$

$$D_2 = (6.9995)(36.9221) - (2.0117)(26.5715) = 204.9824$$

$$U_2 = (2.0117)^2 + (2.0117)(2.9761) - 10 = 0.0339$$

$$U_2 = 2.9761 + (3)(2.0117)(2.9761)^2 - 57 = -0.5699$$

$$x = 2.0117 - (0.0339)(36.9221) - (-0.5699)(2.0117) = 2.0000$$

$$y = 2.9761 - (-0.5699)(6.9995) - (0.0339)(26.5715) = 2.9999$$

$$y = 2.9761 - (-0.5699)(6.9995) - (0.0339)(26.5715) = 2.9999$$